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#HR3—2 BEMISERT DLBESNDERIBIS HHE/1) ) ) ) _ BEEE | ko
SEftouE [ #SmES | 12883048 | ERT4 \ £fF | FRTEHR | S AEE EAE
SMERO T imRICBEET ST SIERMA
iohd LREOBHNBENDRES LREOREBELNDKRES LREOBHOBSENDRES LREORBBILNDRES
&S X 4 Er%;é; 'Fﬁﬁ“ﬁh\(if)ﬁﬁﬁﬁ 73(:;3:"%3 X 4 ﬁﬁﬁ%ﬁgﬂfw '(r%;? jj(giacnié X 4 ﬁf J:ﬁn*ab\(‘;)(])tl:‘.%‘ jj(lfifn%é X 4 J:ﬁn“ﬁf)\(i)@tl:‘.%‘ ;.%3 jj(lfifn%é
7 100kN/m##8x5 | 1.00 | 0.00 ~ 331 1563.11 |3mZ#BZD| 000 ~ 1.16| 3.64 18.92 | 100kN/m%£i#Bz25 | 1.00 | 1065 ~ 4027| 15311 |3m&E#BZB| 3000 ~ 2027| 3.54 1892
st 1.00 | 831 ~ 1110 100.00 | =nLst | 1.16 ~ 11.10| 3.00 16.05 ThList 1.00 | 6.00 ~ 10.65 100.00 | =nst | 5.00 ~ 3000 3.00 16.05
2 100kN/m##825 | 1.00 | 000 ~ 324 151.86 |3m%E#BZB| 000 ~ 021|312 16.69 | 100kN/m%Zi#Bz5 | 1.00 | 1058 ~ 2864 151.86 |3m&E#BZB| 2500 ~ 2864| 312 16.69
L 1.00 | 824 ~ 1103 100.00 | =nLhst | 0.21 ~ 11.03| 3.00 16.05 ThList 1.00 | 6.00 ~ 1058 100.00 | =nst | 6.00 ~ 2500 3.00 16.05
3 100kN/m%E#8z5 | 1.00 | 000 ~ 227 13526 |3m&x#8z5| — ~ — — — | 100kN/ %825 | 1.00 | 1063 ~ 19.42| 13526 |3m&E#B25 - ~ — — —
ZhLst 100|227 ~ 1005 100.00| FhLs | 000 ~ 1005| 2.45 13.13 zhLst 1.00 | 6.00 ~ 1063 100.00 | FhLS | 5,00 ~ 1942| 2.45 1313
4 100kN/ Mz 25| 1.00 | 000 ~ 036 10536 |3mx#z22| — ~ — — — | 100kN/m%x#z25 | 1.00 | 11.17 ~ 1218 105.36 |3mE 2% - ~ — — —
s 1.00 | 036 ~ 815 100.00 | =nhst | 0.00 ~ 815)| 2.37 12.71 st 1.00 | 6.00 ~ 1117 100.00 | =nhst | 6.00 ~ 1218| 2.37 12.71
5 100kN/mM%BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%E#8% % — - ~ — —|3m%iBZ B - ~ — — —
st 1.00 | 0.00 ~ 6.05 75.85 | FnLS | 000 ~ 6.05| 2.90 15.63 ThList 1.00 | 6.00 ~ 1277 75.85 | TN | 6.00 ~ 1277 2.90 15.63
P 100kN/mM%E{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ B - ~ — — —
ZhLst 1.00 | 0.00 ~ 6.13 76.85 | #hs |ooo ~ 613| 1.83 9.81 zhLst 1.00 | .00 ~ 717 76.85 | #nLS | .00 ~ 717 1.83 9.81
100kN/mM%#BZ % ~ ImEHBAD ~ 100kN/ M%#8Z % ~ ImERBAD ~
Thilst ~ zhLlst ~ Thsn ~ Zzhust ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Thsn ~ zhst ~ Thsn ~ Zhust ~
100kN/M%#2Z % ~ ImEBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Thsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEEBZD ~
Thsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/ MZ#8Z % ~ 3mEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ zhst ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ Thst ~ Thsn ~ Zzhust ~
100kN/M%#2Z % ~ ImEBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhsn ~ Thst ~ Thsn ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBAD ~ 100kN/ M%Z#BZ % ~ 3mEEZD ~
Thsn ~ zhst ~ Thsn ~ ZhLst ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Zzhsn ~ Thst ~ Thsn ~ ZhLst ~




